PR27THEERRIY R PYFa2 P I IEFESEIT Oy D TEHRR

=5 SRNAYEU—=D5T - KU —R(6665Yards Par 72)
28 | 88248((08)
TYRD—: 1258
HiZ 1208
V) BEl FhiE 237 V) Bl FhE 237 V) BEl FhE 237 V) BEl FhiE 237
1 *IAE ;ﬁ 1R85 67 (33, 34) % fE%A D& 7 1E 79 (39. 40) _l%_% ﬁ}ﬁ UN—t4 KD T2 85 (43, 42) Ri5 Xim E& 7=
2 AN IE#B psgec-mem 71 (37.34) 42 [fUEf EE  BRNFUY 80  (42.38) BB A Al 85 (43,42 =B B EL  h&H
BEE i =W 71 (33.38) N BFE ERE 80  (41.39) MHEE  HEmWw 85  (42.43)
4 BB EL L—YA 73 (36.37) 8 JRIE IR 80  (41.39) el B8 =R 85  (41.44)
= E el 73 (36.37) VI KB =R 80 (40, 40) 86 TH BR Bk 86  (47.39)
6 ML X 74 (37.37) BB EZ  vssvssn-sz 80  (37.49) BB —% GMG/\EF 86  (47.39)
7 B E=E KRE 75 (38.37) 471 AN EX KP 81  (43.38) D0EE IE==  ®HW 86 (46, 40)
fIBE N8 #FE 75 (36.39) Him & wERLHSD 81 (42.39) ERBFE  SEF 86  (45.41)
ok = mEFuy 75  (36.39) RP E— = 81  (42.39) N= =B 86  (45.41)
=SB &8 SR 75  (36.39) EORK FDSS ELVEFERE 81 (41.40) RE B BB 86  (44.42)
WHEZ Juyva—oz2 75 (35.40) BE &8 ED 81  (41.40) TN fEg— == 86  (42.44)
12 BB SM  su-vi—- 76 (40, 36) IR BT seeru—Y 81 (40.41) OB 815 ANR 86 (40, 46)
WIE =E  sreerU—> 76 (39.37) We = +89 81  (40.41) 94 EEE FT | 87  (47.40)
Tk BT BEER 76 (39.37) B #B17 W 81  (40.41) KE B BiR 87  (46.41)
ANBB IESE DUz~ 76 (38.38) WO B wvrvLroz 81 (39.42) % & Highaw 87  (44.43)
- ME TEBBE - B e mEFvy 81  (39.42) NE Bl w3er 87  (44.43)
1% £l psscc.-mem 76 (37.39) W E— I 81  (39.42) MR X¥E 3B 87  (44.43)
Pl RIB  ARIR 76 (37.39) B Bz A=EK 81  (39.42) AT i ouUzSIL 87  (43.44)
Y BS =R 76 (36.40) TR =i 81  (36.45) BB E¥E +3Jer 87  (42.45)
AN FBE B3 76 (36.40) 60 MW EFD TmLHSH 82 (45.37) NEE B17 2% 87  (42.45)
=8 —H mEFuy 76 (36.40) B 2% StmR 82  (43.39) NE TR HxRER 87  (40.47)
HiE BR =TE 76 (36.40) JI\BEEE =R 82  (43.39) No 8% BEEER 87  (40.47)
22 B NR FEER 77 (41,36) D XfT &2 82  (43.39) 104 BKBEE J-vusmrE 88 (46,42
K S =% 77 (41.36) S F0B  posmssoem 82 (42, 40) S Z IR 88 (43, 45)
BE SVVvEFERgE 77 (40,.37) 2B BE S8 82  (40.42) 106 M —3XK 1IF2] 89  (45.44)
I B—B0 w5 77 (39.38) WiE hE SR 82  (40.42) =SB h— #wrE 89  (42.47)
WA EF == 77 (39.38) FHF B= 3k 82  (38.44) 108 VMR Z8  FE 90  (47.43)
fUsp 6% 8\BE 77 (39.38) 68 &N fil 5B 83  (45.38) Rt &2 B 90  (43.47)
2 SR uRE 77 (39.38) Py s JeA I 83  (44.39) 110 ¥JJ & PEREE 91 (40.51)
Bt B2 ®uw 77 (38.39) W EZ  #3 83  (43.40) 11 B35 i TR 94 (40, 54)
30 BB Y— smEErU—Y 78 (41.37) S & W 83  (43.40) 112 B EHE  mw 95  (48.47)
=0 el woE 78 (41.37) MR IES @ 83  (42.41) WEB 0 AR 95  (48.47)
TP =T i 78 (39.39) e ®mW 83  (42.41) AT BABE Y RS 95  (44.51)
S8 R EEEE 78 (38, 40) 74 AN T— RE 84 (46, 38) s WERT 2URSL 96 (49, 47)
FiF Fz K=2H 78  (38.40) FEE BN ERE 84  (42.42) 116 )l BB J—gvsgrE 100 (47, 53)
N6 8 78 (38.40) JBK SRABS suvoemyr 84 (41,43) st O NE ==
ik /A hFs 78  (38.40) ht+ERBE =tey 84  (41.43) = T0O £ WiE
37 2B - E[ 79 (41.38) ZE =— @ 84 (40, 44) i BIANK wEsR
KRB E—8f BSFTY 79 (41.38) Kig HEE  ®s 84  (39.45) xig Mz EE HIS
HB 0K &8 79 (40, 39) 80 B —18 XL\VEFEGE 85 (46,39) xiB BN FH IR
i TE RPEILX 79 (40, 39) DF BB o 85  (44.41) xig AIRM B =@



